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7.1

7.2

Complete the sentences using the correct forms of the words in italics.

Ina__ ... number of cases, there was no reaction at all to the drug. surprise
The analysis demanded an ... ... amount of computer time. exceed
S .numbers of birds inhabit the lake during the winter. consider
The course requires a ... amount of prior knowledge of computers. reason
The survey took a ... . amount of research time and costs were high. substance
The two dams can hold in ........ of two cubic kilometres of water. exceed
In ... ,12areas of the Southern Indian Ocean are now closed to deep-sea
fishing. totality
8 Groups . four people were considered too large for the experiment. exceed
9 No. . than 2,000 new computer viruses are created every year. few
10 Ina number of cases, surface damage was noticed. signify

N b W=

The sentences below are typical of spoken English. Replace the underlined words to make
them sound more appropriate for a written assignment.

1 The bulk of our work is concerned with carbon emissions.

2 We have noticed that fewer and fewer students are joining the course.
3 Our team spent a fair amount of time getting funding for the research.
4 In a couple of cases, we could not find any reason for the outbreak.

5 We spent a great deal of time on the project.

6 As you repeat the experiment, use less and less water each time.




